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Question 1to5 : . ine i
e distribution of the number of readers of an IT magazine in the years 2,

The following tab tage (%) .
and 2023, a]:gnﬂg E::;“:j;?:mp:lﬁgﬁi-ﬁ Based on ﬂ“_c? data in the table, answer the questions that follow,
ﬁﬁrmﬂwwﬂwﬁmﬁﬁmﬂa.ﬁﬂaﬂzuwamﬂﬂﬁmﬁm#maﬁMHﬂm(%ﬂ*ﬁmmmq.

™ # Hﬁmﬁmh%wﬂ%ﬂyﬁ%m UBLE
City-Wise Details of Number of IT Magazine Readers/
mﬂ‘!ﬁ* TIBE1 #) GEAT HT Wer-a77 Fraco

. m Percentage of Readers in Year/

City/ O\ a1 H a3l @1 g

T O (2019) (2023)
A 10% 15%
B 14% 16%
e, 17% 28%
D 9% 10%
E 24% 9%
F 26% 22%
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If the numper
of readers from Cj -in th i i 300
Tes : ty-Cin ejrearzﬂlﬂandthatfmmClt}r-Emﬂweyearlﬂzawemm,tm nd
Pectively, then the number of remfmm City-B in the year 2023 was a Pproximately %amui ﬂmn
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If the nu .
whatis thn:t:i?fﬂf "Eﬂd?:: from the City-D in the year 2019 and 2023 were 77,400 and 1,14,000 respectively, then
erence between the number of readers from City-F in the year 2019 and that in 2023 ?

ﬂﬁ“‘fi‘ﬂmazﬂaﬁmﬂﬁ ;
UISHl Ft T Fmh: 77 :
aﬂra&fmwaﬂmﬁ:ﬁamaﬁm“ A00 3 1,14,000 «t, Tt ¥7 F & Wi %1 & 2023 &1 wep

(1) 24,800 2 27,200 (3) 28,400 (4) 33,600

If the total number of readers from all the six cities A-F together in the year 2023 was 50,000, then the number of
readers was more than 7,400 in ex cities in the same year.
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If the total number of readers

3 4 4 5

hat was the difference between the total number of readers from G’

4.3 lakh and 5.7 lakh, respectively, ?
sty < mm?ﬂmf A (3) 1625 lakh . (4) 159 lakh
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5.  Ifthe ratio of the number of rb;&em ;
" the year 2019 to that iy, o

f |
of the number of readers from “Er:m P

. IX Citigs to : 023 v
TR A R T A 2019 9 T g a1 YA 2019 0 g 525,
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6.  Match List- I with List - 1. M s
List-1 0
List- 11
(Types of toxicants) Xer N
A Nephrotoxic L {u:EdO““‘ N
B.  Hematotoxic il Kidnay QD
C. Pulmonotoxic IL Liver o0
D.  Hepatotoxic IV.  Blood iy
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7 Whathﬂrle base-10 equivalent of the base-4 number 3013 ? m
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. 'Mindto mind’ communication involves the communication of meanings through:
A Physical settings B.  Shared beliefs C  Values
D.  Noisemanipulaion  E.  Context
se the correct answer from the options given below :
A, Band D only  B,CandD
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ants ranked from slowe,,

owing list of computer cOMPpond
jer of the forlle ;
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A rl,uc;ci:;ﬂﬂqﬁﬂhj :}nﬁaﬁ%mﬁ Wma&ﬂﬁﬂﬁﬁﬁﬁﬁ?ﬁ@hﬁ
afipra T4
A ks C. TATAE D. e, |
i3 ikl * I:.mm the options given below : J
Choose the corre ot answer (&
ﬁ%ﬁquaﬁﬂﬁﬁnﬂwaﬂww s~ B
1) D.CB A 2 A BCD (3) I%;ﬁ*{ . AR
' CY)
10. Match List - T'with List - II F::)
List-1 List - 11 N
(Words) (Codes with same n{bt)
A FIND L RGKC
B CLOG 1L DGLB
E C SHOW 1L AJME
D. TIME Iv. QFMU
Y qelt-1 3 e ge-11 1 e HIT :
Ilr geit-1 gei-11
(v1=g) ( FuT fraw ygaa Fite)
A, FIND L RGKC
B. CLOG IL DGLB
C SHOW m AME
D. TIME IV. QFMU 1<
Choose the correct answer from the options given below : (%]
At fau U fasedl 5 | W@ ST 1 597 FIe ; o)
(1) AL B, CI, DIV @) AJLBAILCAV, D
I i e (4 A-IV,BICI,D-I

11.  Which fallacy is committed in the following statement ?

“People with cases of flu should be k | .
keeping the disease from spreading ptin quarantine, because it has never been disproven®

(1) Appealtol
/ FPE - (2) Hasty Generalisation
(3)  Slippery slope S
(4)  False cause-
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14.
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D. 0%
C]'Imse thﬂ_':ii-:nd 5% of I“ ..H.jd-"P to 0.1 .
(1) A &l Bﬂ:: ANSwor from the options E.'E\FE‘I'I.hEIDW d] ) A and D ”“1},
| 1 -ﬂﬁl'&}' (2) BandC only 3) CandD only
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rofiles of scientists / researchers and othér faculty

Which of the following digital initiatives provides data WA
members working at leading academic institutions and organizations

(1) SWAYAM prabha C)uE-Y
National Academic Depository (NAD) (4) E-Shodhsindhu g :
L e i s S A
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oose the correct answer from the options
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Ch Wi Hi\."'l’l'l J:TE,'I[.I'\r:-
ﬁﬁgwﬁwﬂﬁﬁﬂﬂiﬂlaﬂw;ﬁm:
- IV, C-I, D-ITI
()8 ATLBY 5L (2)  A-mpiy
-IV, B-11, C-1, D-I11 o Y, LD
%/ s (4) A-L H-IIl,f-”,”-hr.

17.  Which of the following is the f;

rst Post-Inde
(1) Indian Educ

| ! Pendence edyc
ation Ommission

ation COmmission In India ?

: - ) (2) Calcutta Universitv
(3)  University Education Comm 1Ssion (4)  Indian Eniu':lr:ir;]z(ﬁﬂnmmm |
. A e o =S108S Commiscinn
wmmmawmmww Jes b missior

(1) NI fae s ; ) Fwy fvafremem s
3) Tavafame faan smim @) I SafmEme s
in5h hilt:"fﬂkﬁ"ﬁﬁ h to return upstream

to the startin
the speed of the stream be 4 km /h, then what is the speed of e motor boat in still water ?

(I) 40km/h (2) 42km/h 3) (3 km/h 4) 46km/h
T{ﬁﬁm?ﬁ:ﬁfﬁmaﬁﬁﬁnﬂm@ﬁﬁaﬁﬁmm%ﬁﬁﬁwﬁgﬁﬁaﬁwﬁﬁ
ﬁwﬁaﬁﬁﬁiﬁzaﬂmﬁﬁ?%!Hﬁ*ﬂﬂ%’fﬁlﬁ4ﬁﬁwﬂ%ﬂ?ﬁfmﬁmﬁﬁmmaﬁmﬁ
(1) 40 fet. /527 (2) 42 fF. /5 3) 44fwst /g (4) 46 it /o

19.  Which of the following statements A-D about computer memo ry size is/are true ?

A 25 KB is larger than 100 MB. B. 999 MB is larger than 50 GB.
& 3500 KB is smaller than 2 GB. D. 2350 I::;-:ftes is smaller than 2 KB.

; rrect answer from the options given below : = N
g;mﬂbit::f (2) Conly (3) SBand D only (4) BandConly
et AR SRR % R § A-D F frefefad wer § § da /A wi/E?

A 25KB, 100 MB & 921 &l €| B. 999 MiB, 30 GB ¥ 9% & €
i 2 ’ :

: 77 2 K 21 B €
C. 3500KB, 2GB ¥ B & €| D. z:s5u:3i§-c:§,zwﬂamfm
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Which of the follo
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Ly i
J_I'Id the senses js ac eptable ? tl stugdy, ol Ll.‘ﬂﬁl‘}r Eugﬂcgbilhnl only knowled e i ”"l"""".h"'"-I"i'T.II-‘I'Hl:
sonstructonism
B (2) ethnography
¥ MIrCISim
[3.} Bk F r '”-]I Operabionalism
5T %1 Fre=faf e
‘qﬂ'ﬂftﬂ 1594 {1 o R o il;]ﬂqm‘.lﬁm_ﬁfd o TETS T -E]-Irhﬁt?
(1) Ffsfa (2) T
@ IpEER @) g,
e
21.  Speed ofa boatin still water is 5 |

m_.l'lrhr ar thl?!ipﬂ"l.“d nflln--.lﬂ;ﬂu 31 km/hr. A man row

I-lrfingpniht Find the tntalﬁlﬁ'ﬁtuh-nh}'hml.
(1) 8hr (2) 10 hr IR#17) (4) 15 hr

Stoaplace ata di
of 24 km and comes back to the s ' Place at a distany

22.  Which of the following are essential requirements for tl

1e formation of photochemical SMOG?
A, Carbon monocoxide (CO)

B. Nitrogen dioxide (NO,)
C_  Carbon dioxide (C( )5) IZ: Volatile Organic Compounds (VOCs)
E.  Sunlight
Choose the most a Ppropriate answer from the options giveE'th; :
(1) A, Band Donly (2). A Ca nly
3) B.CDandEonly ) B, Da

nly
ﬁﬂ-mﬁm%ﬁﬁ%aﬁ%mﬁﬁﬁﬁﬁm

aﬁ-—m”fw SAavasan ¥ ?
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(1) FaFA,B3srD () %FdA,C3RE

B) FF9B,C D sikE (4  F948,D sl g
2. Knowing that doe



yns of 1m plicit (LUncons jous) memory 7

' 24. Which of the following awl;hesuh.iivll-h
o B | |_II‘-'I'".“l. MMemory
A Priming
C Classiulmn:iiﬁunmgeffecﬁ U Semantic Memory
E Procedural Memory
Chﬂcﬂtlhﬂmﬂﬂl"PPﬂ?‘FﬁlHﬂMWErfrnm the options given Delow
(1) BandDonly 5100 A, B, Dand E only
. (3 A.CandEonly dys/ A, B,C,Dand |
,.’ s S ) T (), S ST
A TEfEm B AT e ) T
f C m—pﬂqwm ) geima i
E  wrifafus wfa
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(1) FEIBIRD @) %a@A,B DIRE
@ FadaA, C3NE @ ABCDME
25.  Match List -1 with List-IL. o0
List-1 B-?‘ List-11
(Concept) GO (Source)
A Free commerce and communication ml Alfred Marshall
B. Communication in eCONOMICs %I JohnLocke
C.  Language asaconduit nfmmmunin:mioﬁ) M. KarlMarx
D.  Lines of communication IV. AdamSmith
qaﬁr-]ﬂ:muq_a’r-uaﬂfqmaﬁﬁq:
geli-1 a1l
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/ ( HeheaT ) (&)
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i @ AIBICIV,DI



@ B.CandEonly ) A Be
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(1) %A A,C3lrp {2] '-.*'_L.'.-
|||' () F59B,CWE (4) anniﬁf

27. The media accountabili
| B aton g ki
.*' E. Feedback
Choose the correct answer fr

Pl

() ABandConly T heoptionsgivenbelow e
[3.] BF D and Eﬂﬂi}r 7
shifean Toreren § Fuw 79, wifew -

B A TR B.

E  Wfaghe ;

4 few e fawredi § @ vl 3w = v wife .

(1) #adA,B3Rc -

() ¥a9B,DIME
l IdH'lﬁf)’ﬂ'lECﬂﬂEl‘.‘t_ o1 8| il i
A, Indian Council of Social Sc
B.  National Council for Rural
C  Indian Council for Resea
D.  Indian Council for Historical Research
E  Indian Institute of Advanced Stuc _

frefafad sHEum S1eH F 376 T
A s gt fagm sEam e (3 5 v

B. Ui undtor wear ufteg (UA 4t SR :_'*"-"
C YRt 29 s gftg (3 6 3m)
E  WRd 3o v weE (o s uwm)
Choose the correct answer from the options given below'
T4 ey m fpedi # A m@ s A A Fifwg: €
1) ADEBC 2 BECDA ()
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29,

30.

31.

32.

: o’ are likely to
When you try to predict the value of an outcome vVariable from one or more variables, )

A the Pearson Inrﬂduct-mnmentmrrelaﬁﬂﬂ
B. bivariate regression
. multivariate regression
D.  analysis of variance
Choose the correct answer from the options given below :
(1)  A,Band Conly ) Band Conly
(3) B,CandDonly &) AandD only
7 A F E

mmmmmuﬂﬂmmﬁﬂmmmmmmm
A b ToR-smel gEEad (&g

B. :
¢ v

D. weofawdmy ‘rm"‘ el

4 o g e | mmmmm

(1) A A,B3IRC @ FamB3nc

(3) FEAB,C 3D (4) EE A RD

According to National Credit Framework (NCTE), aftér obtamning Bachelor's Degr

En imum ) of programme duration of four vears, the credit level earned is
5 I

ft Th) & Wmaﬁﬁmﬁ:mﬂﬁmﬁﬁﬁ

=g Hfez Foaa+ uq =i *
ST S w0 F IvE TE0 [ Tal i SRt o

(1) 5.5 (2) 6 _ (3) 65 4 7
Arrange the following in order ufmeaswnnnmhﬂn

Al Fielder . Ball Player

C.  Baseball Player Vb, Athlete

Frfefias 1w o ¥ § St i ;

A Thicet (&7 &) B. ﬂ:@?m

Cc  duara feerd 0. R

oct answer from the options given below:

Choose the corr
ﬁﬁﬁqmﬁﬂﬁﬂ@mjzﬂ;ii‘l s s,
D @ B )
1) BCA .
ulation of interest has an equal chance of
h project is set Up 5° ot Eveﬁ%ﬁm T

If a re&eall: lp the researchin involves: c h‘fZ) ]udgemental "

in the sampl€ g - —

ota sampling O conven | .

(oo . s e e 4 T R
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I8 AL B-II c: I, D-1v 1

N T C.IV, DI
@) A-ILBIV,C DI iy

A EIIL c"ﬂr D'I

Match List - I with List - II.
' List-1 ' List-1I1
: - : (Number of Goals/ Targeh}
8
17
21
169

R | | -1
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;.-. ﬁmﬁq(mﬁ)ﬁm(mﬂﬁ

[” - ﬁq(:ﬂw}ﬁ!ﬂﬂ(ﬁ-ﬂ} Fi "' |

,. -ﬁmm(ﬁﬂ)ﬁw{mj P

A ﬂﬁommeopﬁﬂmﬁi‘m

.l-"'"

3I'

'L-:-l ."'i"-
SE L




aﬁt

37.

Th". SCCO r“.i l'-l L

A, : :

B. :JHWEH'H}' Educati
C ['““Euug-:.-a -

D Aural Higher

B,

Year plan

Three-
Choos Bint Year DEgTEe{.‘nu rse Committee
y orrect answer from the options given below -

1) AB
* 2and Conly
() C. Dangd E only

4 ¥ fefta erendter sroren #f Freaferfin 48, Syt ) nfirer fen 1 01
% ﬁ‘ﬂﬁmmﬁmmn Ch

. RUCIER . 0 o

ks AT Ieoren forag ity o0

5 T Forvaferaerdt 2% o davh . —>

s P-=nita et yrammn wfufy .

; hwmﬂﬁwmmwm

{3] F9E A, B 3 ¢ () #HFEB,C3HD

®)  ¥FEEC,pare (4) Ha@A,BIME

Which of the fo]

(1) Donly

Frtfefad 3§ @ 2 @ w07 w8 12
A Aud e o A fre wa vheta o] TE 8w E

B. | il Ghedl Tha yferficral W ST fa) ) 1
& uﬁaﬁﬂﬁﬁﬁﬁﬁﬂﬁm%mmqﬁﬁm lxﬁeﬁtn
o e A @ A T @ w3 AR

| 3 2w R I A
ﬁﬁqmﬁiﬂ;ﬁ 2 %ﬁﬁﬁ\ﬁr{ﬂ (3) Faa B 3R C
) a6 D (2)

. 7

Which of the following statementis - -t‘nns

) Nyaya syllogism has e PRRROSEY"
a A L

.om has five ter .

Nyaya syllogis™ tions, =
L N
3) o logism has three Pwposmnpif"'j

Nyﬁ}’ﬂ y og> aa-ﬂ:.I %? ::;::

ommission of India
-, Education Committee
% 13 {8 on F_ﬁ.t._'.hlll.hmpnt of Mew U“i Yersibies

A ol lowing statements are true ?

B alidity can never apply to any single proposition by itself.
. The concept of truth can apply to single propositions.

C Propositions by themselves can be valid

D. Proposition cannot be valid by itself ﬂ‘lﬂllu}'_‘

Choose the most appropriate answer from the

: “ﬂwi.l'llﬂ:
for implementation includeq the ,&.L,mmﬂnd;&unﬁ“‘-ﬂw

on Commission

(2) o B.CandD only
{"II _. A,Band E nnly

tinvalid.
4t can be invalid on itown.
s given below :

(2) AandBonly ml‘ﬁ} Band Conly
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39.  Match List-I with List. 1

List- I
(Ancient Treatises) List-11
A Lilavati {Author)
B. Yoga-Sutras L Chanakya
e Nyadya -Sutras " Contags
D. Arthashastra - fiohjali
o TS venmry IV. BRaskaracharya
y TER-11 1 e 7 e
- et-1
( wirsit e ) ;
- A e { ]
B M-y L e
= r,:. -4 .
D e v, R
| Choose the correct answer from the options given below :
AR QT e A v s ow w an .
(8 A-IV,B-I,CI, DI (2) AL B-IV,C-I,D-1
@y AIV,BINLCLDI @ AGBm.c v
It-—ll

Which of th . "
E. : e following statements is lugm%quwalent to the statement - “No horses are

(1)  Nofelines are horses. 2 mommmnnn—fe]ine.
N All non-horses are felines. (4) .Ntm—felimamhurm.

3 ot v v 1 -
ﬂﬂmmmmﬁﬁmmﬁaﬁaﬂwtmt? 1
ﬁﬂﬁﬁ!ﬂlﬂm?ﬂtl @) Fr ot e R-famm @ ®

E.
‘r it -2 faem &1 (@) &t fi-fareme R ¥
I rle L !J-jﬂ'l-f o
1. Which of the following is the National Coordinator of SWAYAM courses for non-technical post-graduation
g education?

l ' Alllm:lm CG'I.II‘I:CI] for Technical Education (

I;: ! ‘National Institute of Technical Teachers Trnmtng-and Research (NITTTR)

(3  National Council of Educational Research angfraining (NCERT)

(4)  University Grants Commission (UGC) N

et 5 @ 217 TR-qaA -G e ¥ T e w1 T e (Fee)
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options given below
ﬁhﬂ“iiﬂmwmﬁl‘ﬂm

() Adv.pm C-IL Dy L B-LC-IV, DN
B Al campay (4 <L B-IV, C-111, D]
4. Awmmmmmm‘mﬂ)
P Resll o vt o e .~ 0
A 3 ay 2 yx
: 13 QF 3 D
Gu_hmmhﬁﬁ_hm - .
ﬁhwm##ﬂmnmﬂ:ﬁ?mh
¥ M ABCD @ DCBA 0 CBAD @ D
[:M.TM'WMHT.mhmmnind COmmunicatioy ?
M##MMih-mthmﬂHﬁﬁsw O Moog,
M) m @ W %] gz fme4: o
45, Arrange the different ! ‘ :
; X o mw“hmdeduthnnmcurmgqmﬂt
Findings s fﬂl‘ﬁmudmrqﬁtui
Dw.‘uutﬂlhchon

C oty (fesd HHer
tmmcmlrimﬁumﬂmm . o
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Which of the following facts about the traditional indian medicine ygpem, are false ;
A Each System is Unique. gl ; :
B, They include Ayurveda, Naturopathy, Yoga, Unani, Piddha, Sow, Rigpa and ““rnm
B Modern 1 fealth Science preceded them. .
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49. The Global centre for Traditiona) Medicine has beenﬂsﬁblishd in
(1) World Healt, Organization (2) Jamnagar
(3)  New Delh; 4)  Haridwas
Wqﬁmﬁﬁﬁq[%gﬂ‘ﬁam%aﬁﬁmwt?
(1) fova @ gy (2 SR

50. Choose the appropriate title for the passagew
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